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	1. A reaction will shift based on the changes you make to an equilibrium.

2. a) shift right

b) shift left

c) shift right

d) shift right

e) shift left

f) shift right

3. a) stay the same

b) shift right

c) shift right

d) shift left

e) stay the same

f) shift right

4. a) shift right

b) shift right 

c) stay the same

d) shift right

e) shift left

f) shift left
	1. B

2. B

3. C

4. B

5. A

6. When you increase the concentration of a substance, you increase the amount of collisions due to the fact that there are now more molecules present in solution. According to collision theory, when molecules collide more, the rate of a chemical reaction increases.

7. Show drawing to Mr. Lance to check for accuracy.

8. Activation energy is the amount of energy that is required to turn reactants into products (or products into reactants.

9. Show drawing to Mr. Lance to check for accuracy.

10. Show drawing to Mr. Lance to check for accuracy.

	9.3 Answer Key

	1. C

2. J

3. A

4. F

5. B

6. A


